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b
− π
2
≤ tan−1 b

a
⎛
⎝⎜

⎞
⎠⎟ ≤

π
2

arctangent#��$
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a =1,b =1

⇒θ = tan−1 1
1
= π
4

a = 1,b = −1

⇒θ = tan−1 −1
1

= − π
4

a = −1,b = 1
⇒ tan−1(−1) = − π

4
⇔θ = 3

4
π

a = −1,b = −1
⇒ tan−1(1) = π

4
⇔θ = − 3

4
π
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b a =1,b =1

⇒θ = tan−1 1
1
= π
4

a = 1,b = −1

⇒θ = tan−1 −1
1

= − π
4

a = −1,b = 1
⇒ tan−1(−1) = − π

4
⇔θ = 3

4
π

a = −1,b = −1
⇒ tan−1(1) = π

4
⇔θ = − 3

4
π

� 0≧a, 0≦b���
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θ = tan−1 b
a
+π

θ = tan−1 b
a
−π
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dtn
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= bm
dmu(t)
dtm

+ bm−1
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L[ f1(t) + f2(t) ] = L[f1(t)]+L[f2(t)] 

L[ K f(t) ] = K L[ f(t) ]
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L[  ] = �2
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dt
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g(t)= �
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dt
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dt
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=sL[g(t)] – g(0)
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=s2 F(s)  - sf(0) -

dt
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df(0)
dt
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